Yr 8 Homework revision 3

Multiple Choice : Circle the correct answer

Questions : Mulitple Choice

Answer

8x -3x-x=
1
@A) 4x 6x © s8x-3 D 5
0.3% equals
2 .
1 3 3 3
@ 3 10 © 100 © 1000
750 mm equals
3 @ 0.75m 7.5 m © 75m O 750000 m
If 7 tickets cost $12.60, how much would 2 tickets cost?
4
2 8
5 | Solve @.2
3 9
. Simplify (-4) x (-6) x (1)
; Use your calculator to find answers correct to 2 decimal places.
V4036
185+ 35.48
Expand and simplify.
8
4x(x - 2) - 3(5x - 1) =
Find the value of the pronumeral. All measurements are in cm.
9
A 22.6 B
18.2 Y
D135¢C
Simplify the following.
10
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